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Ranking and Ordering
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1.Saran is eighteenth from the right end in a row of 50 boys.What is his position from 7 point
the left end?

32
@ 33
34
35
2.In a class of 90 ,where girls are twice that of boys ,Shridar ranked fourteenth from 1 point

the top ,if there are 10 girls ahead of Shridar ,how many boys are after him in rank?
1.23

23
24

25

@® 26

3. Sita ranks nineteeth in a class of 68 students . What is her rank from last ? 1 point

48

49

@® 50

o1
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4.Raji is 5 ranks ahead of Raj in a class of 46 students.If Raj's rank is twelth from the 1 point
last, what is Raji’s rank from the start?

28

29

® 30

31

5.In a queue, A is eighteenth from the front while B is sixteenth from the back. If Cis 7 point
twentyfifth from the front and is exactly in the middle of A and B, then how many
persons are there in the queue?

45
46

® 47

48

6. Amongst five friends, A, B, C, D, E, each got different marks in the examination. A 7 point
scored more than B but less than C. C scored 65 marks. D scored less marks than only

E. The one who scored the minimum marks scored 60 marks and the one who scored the
highest, scored 80 marks.Who scored the second highest marks?

B
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1. Among B, F, J, Kand W, each one of them is of different heights, F is taller than only 1 point
J. B is taller than F and W (both) but not as fall as K. Who among them is the third
Tallest?

B

@ w

8. Some persons are sitting in a row, all are facing north. A sits second to the right of 7 point
B, who sits fiftth from the right end of the row. Only one person sits between B and C.
No one sits to the left of C. How many persons are sitting in a row?

6
@ 7
8
11
9. Adarsh is eleventh from the left end and Naveen is 20th from the righ’r endin arow. 1point

If they interchange their positions, Adarsh becomes fifteenth from the left end. How
many persons are there in the row?

36
35

33
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10.A is 18th from left of the row and B is 24 th from right side of the row.If they 1 point
interchange their position , A will be 31st from left.What will be new position of B from
right side

36
@® 37
38

39

11.Refer qn 10. What is the total no: of persons? 1 point

52

53

® 54

55

12.Refer qn 10.What is the total no: of persons between A & B 1 point

10

11

® 12

13
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13. Ram is 11th to the left of Shyam, who is 15th from the left end and Harsh is 20th 7 point
from the right end of a row, then what is the position of Ram from the right end of the
row?

51

@ cannot determine

49
48
14.1f position of A from left side is 15th and from right side is 19th and only 1 person is 1 roint

sitting between A and B, find the minimum number of persons that can be seated in a
row

29
® 31
30
32

15.Sachin is taller than Kapil.Amar is taller than Prabhat but not as tall as 1 point
Kapil.Prabhod is taller than Sachin.Who among them is the shortest.

Sachin
Kapil
Amar
Prabhod

(® Prabhat
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16. Sunita is taller than Seema and Renu.Renu is shorter than Radha and Gauri. Binais 7 point
taller than Radha and shorter than Sunita.Sunita is not the tallest and Renu is not the
shortest.Which of the statements is definitely correct?

@ Bina occupies the third position from the top
Seema is taller than Renu
Gauri is shorter than Radha

None of these

13. Refer gn 16. Who is the tallest 1 point

Sunitha
Bina
@ Gauri
Data inadequate

None of these

18. Refer qn 16. What is the position of Radha from the shorter end 1 point

Fourth

Second

(® Third

data inadequate

none of these
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19.Refe qn 16. Who is the shortest 1 point

Radha

Renu

Bina

data inadequate
@ none of these

20.Mukesh is taller than Suresh but shorter than Rakesh .Rakesh is taller than Harish 1 point
but shorter than Amar.Who among them is the shortest with regard to height?

Mukesh
Suresh
Harish
(® can't be determined
none of these
21.Priti scored more than Rahul. Yamuna scored much as Divya .Lokita scored less 1 point

Manju .Rahul scored more than Yamuna .Manju scored less than Divya Who scored the
lowest?

Manju
Yamuna

® Lokita

Rahul
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22.In a row of ladies Maya is 20th from right and Kavitha is 10th from left.When they 7 point
interchange their position Maya becomes 25th from the right. What is the total
number of person in the row.

35
® 34
44
24
23.In a row of boys, Kapil is eighth from right and Sreenath is twelfth from left .When 7 point

Kapil and Sreenath interchange position, Sreenath becomes twenty first from left,
which of the following will. be KapiL's position from right?

8th

@® 17th

21th

9th

24.Aruna ranks twelfth in a class of 46.What will be her rank from the last? 1 point

34

@® 35

33

36
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25.Rahul ranked ninth from fop and thirty eight from the bottom in a class.How many 7 point
students are there in the class?

44

45

47
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